

1 Calcule.

$$\frac{6}{3} + \frac{9}{3} + \frac{11}{3} = \frac{\cdot}{\cdot}$$

$$\frac{20}{100} + \frac{50}{100} + \frac{12}{100} = \frac{\cdot}{\cdot}$$

$$\frac{6}{7} + \frac{12}{7} + \frac{5}{7} = \frac{\cdot}{\cdot}$$

$$\frac{52}{1000} + \frac{13}{1000} + \frac{5}{1000} + \frac{7}{1000} = \frac{\cdot}{\cdot}$$

$$\frac{15}{62} + \frac{10}{62} + \frac{5}{62} = \frac{\cdot}{\cdot}$$

2 Calcule comme dans l'exemple.

$$\frac{9}{3} + \frac{17}{3} = \frac{\cdot}{\cdot} = \cdot + \frac{\cdot}{\cdot}$$

$$\frac{4}{6} + \frac{5}{6} = \frac{9}{6} = 1 + \frac{3}{6}$$

$$\frac{8}{12} + \frac{11}{12} + \frac{24}{12} + \frac{5}{12} = \frac{\cdot}{\cdot} = \cdot$$

$$\frac{13}{7} + \frac{23}{7} = \frac{\cdot}{\cdot} = \cdot + \frac{\cdot}{\cdot}$$



3 Mets ces fractions sous le même dénominateur et calcule.

$$\frac{52}{1000} + \frac{5}{100} = \frac{\cdot}{\cdot} + \frac{\cdot}{\cdot} = \frac{\cdot}{\cdot}$$

$$\frac{4}{10} + \frac{2}{100} = \frac{40}{100} + \frac{2}{100} = \frac{42}{100}$$

$$\frac{8}{10} + \frac{11}{100} + \frac{24}{1000} = \frac{\cdot}{\cdot} + \frac{\cdot}{\cdot} + \frac{\cdot}{\cdot} = \frac{\cdot}{\cdot}$$

$$\frac{12}{100} + \frac{2}{10} + \frac{50}{1000} = \frac{\cdot}{\cdot} + \frac{\cdot}{\cdot} + \frac{\cdot}{\cdot} = \frac{\cdot}{\cdot}$$

